	____ 1.	Prokaryotes are members of the kingdom of 


	A)	animals.    B)  monerans.    C)  plants.    D)  protists.    E)  viruses. 








	____ 2.	Prokaryotes include 


	A)	animals.    B)  bacteria.    C)  plants.    D)  protists.    E)  viruses. 








	____ 3.	Eukaryotes 


	A)	are not found in the kingdom of protists. 


	B)	do not include multicellular organisms. 


	C)	contain DNA in their nucleus. 


	D)	first appeared on the Earth 3.5 billion years ago. 


	E)	lack a true nucleus. 








	____ 4.	What is the largest magnification that can be produced by the electron microscope? 


	A)	10    B)  100    C)  1000    D)  10,000    E)  100,000 








	____ 5.	Who first observed bacteria and protozoans through the microscope? 


	A)	Hooke    B)  Leeuwenhoek    C)  Pasteur    D)  Redi    E)  Spallanzani 








	____ 6.	The ________ is the command center of the cell. 


	A)	cytoplasm 	D)	nucleus 


	B)	mitochondrion 	E)	smooth ER 


	C)	lysosome 








	____ 7.	The two major chemical components of the plasma membrane are 


	A)	carbohydrate and nucleic acid. 	D)	protein and water. 


	B)	carbohydrate and lipid. 	E)	water and ions. 


	C)	lipid and protein. 








	____ 8.	The smaller molecules composing proteins are 


	A)	amino acids. 	D)	nucleic acids. 


	B)	fatty acids. 	E)	nucleotides. 


	C)	monosaccharides. 








	____ 9.	Steroids consist of ________ ring structures bonded together. 


	A)	3    B)  4    C)  5    D)  6    E)  8 








	____ 10.	The fluid mosaic model refers to the structure of the 


	A)	cell wall. 	D)	plasma membrane. 


	B)	cilium. 	E)	smooth ER. 


	C)	nucleus. 








	____ 11.	The plasma membrane is 


	A)	completely permeable. 	D)	impermeable. 


	B)	found only in eukaryotic cells. 	E)	selectively permeable. 


	C)	found only in prokaryotic cells. 








	____ 12.	Which structure is among the most commonly transplanted organs or tissues? 


	A)	bones    B)  kidney    C)  lymph node    D)  skin    E)  spleen 








	____ 13.	Fetal cell transplants do not cause tissue rejection because they lack 


	A)	cell structures. 	D)	nuclear envelopes. 


	B)	fingerprint proteins. 	E)	plasma membranes. 


	C)	genes. 








	____ 14.	The movement of molecules from an area of high concentration to an area of low concentration is called 


	A)	active transport. 	D)	pinocytosis. 


	B)	facilitated inhibition. 	E)	simple diffusion. 


	C)	phagocytosis. 








	____ 15.	Carrier proteins are involved in a process called 


	A)	active diffusion. 	D)	pinocytosis. 


	B)	facilitated diffusion. 	E)	simple diffusion. 


	C)	phagocytosis. 








	____ 16.	Simple diffusion is a process that probably involves 


	A)	active transport. 	D)	lysosomes. 


	B)	carrier proteins. 	E)	ribosomes. 


	C)	membrane pores. 








	____ 17.	Active transport uses energy directly from 


	A)	ATP. 	D)	digestion by lysosomes. 


	B)	building of water molecules. 	E)	lipids. 


	C)	DNA. 








	____ 18.	The movement of molecules against a concentration gradient is called 


	A)	active transport. 	D)	phagocytosis. 


	B)	facilitated diffusion. 	E)	simple diffusion. 


	C)	osmosis. 








	____ 19.	Phagocytosis is a type of 


	A)	active transport. 	D)	simple diffusion. 


	B)	endocytosis. 	E)	synthesis mechanism. 


	C)	exocytosis. 








	____ 20.	Proteins can exit from a cell by 


	A)	active transport. 	D)	simple diffusion. 


	B)	endocytosis. 	E)	synthesis mechanism. 


	C)	exocytosis. 








	____ 21.	Exocytosis is a term that refers to 


	A)	energy entering a cell. 	D)	substances entering a cell. 


	B)	photosynthesis. 	E)	substances leaving a cell. 


	C)	respiration. 








	____ 22.	Osmosis is a process most similar to 


	A)	active transport. 	D)	exocytosis. 


	B)	diffusion. 	E)	respiration. 


	C)	endocytosis. 








	____ 23.	Osmosis is a process that involves the movement of 


	A)	carbohydrates.    B)  lipids.    C)  nucleic acids.    D)  proteins.    E)  water. 








	____ 24.	In a comparison of two solutions, the solution with the higher solute concentration is 


	A)	dynamic.    B)  hypertonic.    C)  hypotonic.    D)  isotonic.    E)  osmotic. 








	____ 25.	The nucleoli produce 


	A)	DNA.    B)  lipids.    C)  RNA.    D)  sugars.    E)  water. 








	____ 26.	Cristae are components of 


	A)	chloroplasts. 	D)	nucleoli. 


	B)	mitochondria. 	E)	ribosomes. 


	C)	nuclei. 








	____ 27.	The rough endoplasmic reticulum is covered with 


	A)	cilia.    B)  flagella.    C)  lysosomes.    D)  nuclei.    E)  ribosomes. 








	____ 28.	Phospholipid production is a major responsibility of the 


	A)	lysosomes. 	D)	rough endoplasmic reticulum. 


	B)	mitochondria. 	E)	smooth endoplasmic reticulum. 


	C)	ribosomes. 








	____ 29.	A polysome is partially composed of 


	A)	carbohydrate. 	D)	mitochondria. 


	B)	lipid. 	E)	the smooth ER. 


	C)	messenger RNA. 








	____ 30.	An organelle that packages proteins into secretory vesicles is the 


	A)	Golgi complex. 	D)	nucleus. 


	B)	mitochondria. 	E)	plasma membrane. 


	C)	lysosome. 








	____ 31.	The breakdown of substances in the cell is a function of the 


	A)	endoplasmic reticulum. 	D)	nucleus. 


	B)	Golgi complex. 	E)	ribosome. 


	C)	lysosome. 








	____ 32.	A basal body is most closely associated with the 


	A)	flagellum.    B)  lysosome.    C)  nucleus.    D)  rough ER.    E)  smooth ER. 








	____ 33.	Amoeboid movement is produced by the action of 


	A)	cilia.    B)  flagella.    C)  lysosomes.    D)  pseudopodia.    E)  vacuoles. 








	____ 34.	Select the smallest molecule. 


	A)	cellulose    B)  glucose    C)  glycogen    D)  polysaccharide    E)  starch 








	____ 35.	The synthesis of ATP usually results from the breakdown of a 


	A)	carbohydrate.    B)  lipid.    C)  nucleic acid.    D)  protein.    E)  sodium ion. 








	____ 36.	Each of the following is a part of the metabolism following glucose breakdown except the 


	A)	citric acid cycle. 	D)	steps of glycolysis. 


	B)	electron transport system. 	E)	transition reaction. 


	C)	steps of deamination. 








	____ 37.	An enzyme is mainly 


	A)	carbohydrate.    B)  lipid.    C)  nucleic acid.    D)  protein.    E)  water. 








	____ 38.	One of the end products of respiration is 


	A)	glucose.    B)  oxygen.    C)  starch.    D)  sucrose.    E)  water. 








	____ 39.	Overall, respiration is: 


	A)	anabolic. 	D)	independent of oxygen. 


	B)	endergonic. 	E)	nonenzymatic. 


	C)	exergonic. 








	____ 40.	Glycolysis produces a net gain of ________ ATP molecules. 


	A)	1    B)  2    C)  4    D)  6    E)  8 








	____ 41.	Oxaloacetate is a compound found in the 


	A)	beginning of glycolysis. 	D)	Krebs cycle. 


	B)	electron transport system. 	E)	transition reaction. 


	C)	end of glycolysis. 








	____ 42.	FAD is best described as a(n) 


	A)	electron acceptor. 	D)	source of energy. 


	B)	product of glycolysis. 	E)	source of oxygen. 


	C)	product of photosynthesis. 








	____ 43.	Chemiosmosis is associated with the


	A)	electron transport system. 	D)	steps of photosynthesis. 


	B)	Krebs cycle. 	E)	transition reaction. 


	C)	steps of glycolysis. 








	____ 44.	During the citric acid cycle, a molecule that is not produced is 


	A)	carbon dioxide.    B)  FADH.    C)  glucose.    D)  NADH.    E)  oxaloacetate. 








	____ 45.	The electron transport system produces _______ ATP molecules per glucose molecule. 


	A)	4    B)  8    C)  16    D)  34    E)  64 








	____ 46.	In the history of life on earth, eukaryotes probably evolved after the prokaryotes. 


	A)	True   B)  False








	____ 47.	Animal cells are examples of prokaryotes. 


	A)	True   B)  False








	____ 48.	The cytoplasm of a cell is located outside of the nucleus. 


	A)	True   B)  False








	____ 49.	The plasma membrane consists of a single phosphoglyceride layer. 


	A)	True   B)  False








	____ 50.	Facilitated diffusion involves the use of membrane pores. 


	A)	True   B)  False








	____ 51.	Osmosis requires ATP. 


	A)	True   B)  False








	____ 52.	A hypotonic solution has a greater solute concentration compared to a hypertonic solution. 


	A)	True   B)  False








	____ 53.	Ribosomes are involved in the synthesis of proteins. 


	A)	True   B)  False








	____ 54.	The breakdown of glucose to produce ATP is a process that takes place mainly in the lysosomes. 


	A)	True   B)  False








	____ 55.	Ribosomes are structures that are found in the nucleus. 


	A)	True   B)  False








	____ 56.	A "9 + 2" arrangement is seen in both cilia and flagella. 


	A)	True   B)  False








	____ 57.	The active site is located on the substrate that reacts with an enzyme. 


	A)	True   B)  False








	____ 58.	Carbon dioxide is a product of respiration. 


	A)	True   B)  False








	____ 59.	The final electron acceptor in the electron transport system is oxygen. 


	A)	True   B)  False








	____ 60.	Per glucose molecule, more ATP molecules are produced through the steps of the electron transport system than through the steps of glycolysis. 


	A)	True   B)  False








	61.	The light microscope produces less magnification than the ________ microscope. 








	62.	The _____________ ____________ is selectively permeable. 








	63.	_______ ______ ____________ is a technique that avoids the problem of tissue rejection. 








	64.	The use of _________ proteins is involved in facilitated diffusion. 








	65.	The engulfment of large particles is called ____________. 








	66.	________ is the diffusion of water across a selectively permeable membrane. 








	67.	The production of ATP in cells occurs largely in the ___________, organelles in the cell. 








	68.	The "rough" endoplasmic reticulum is named in part because of the presence of _________________. 








	69.	The ____________ are destroyers of aged or defective cellular parts. 








	70.	A human sperm cell moves by means of an organelle called a __________. 








	71.	The end product of a reaction shuts down that reaction by bonding to the _______________ site of the enzyme. 








	72.	The complete breakdown of a glucose molecule produces a net yield of ________ (number) ATP molecules. 








	73.	Of the four major parts of cellular respiration, carbon dioxide is produced in the transition reaction and the ___________ _________. 








	74.	_________ occurs in human cells when the availability of oxygen is low. 








	75.	Microorganisms produce _________ and ________ by alcoholic fermentation. 








	76.	State a function for each of the following:


		A. plasma membrane


		B. ribosomes


		C. lysosomes 








	77.	How are simple diffusion and active transport different? 








	78.	Define "flavine adenine dinucleotide." 








	79.	Define "transition reaction." 








	80.	Match each term on the left to an appropriate association on the right.


		


			___ Golgi complex	A. 9 + 2 structure


		


			___ lysosome	B. produces ATP


		


			___ mitochondrion	C. packages materials


		


			___ flagellum	D. packet of enzymes


		


			___ polysome	E. site of protein synthesis


		


			___ nucleus	F. houses the chromosomes 











�
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	1.	B	





	2.	B	





	3.	C	





	4.	E	





	5.	B	





	6.	D	





	7.	C	





	8.	A	





	9.	B	





	10.	D	





	11.	E	





	12.	D	





	13.	B	





	14.	E	





	15.	B	





	16.	C	





	17.	A	





	18.	A	





	19.	B	





	20.	C	





	21.	E	





	22.	B	





	23.	E	





	24.	B	





	25.	C	





	26.	B	





	27.	E	





	28.	E	





	29.	C	





	30.	A	





	31.	C	





	32.	A	





	33.	D	





	34.	B	





	35.	A	





	36.	C	





	37.	D	





	38.	E	





	39.	C	





	40.	B	





	41.	D	





	42.	A	





	43.	A	





	44.	C	





	45.	D	





	46.	A	





	47.	B	





	48.	A	





	49.	B	





	50.	B	





	51.	B	





	52.	B	





	53.	A	





	54.	B	





	55.	B	





	56.	A	





	57.	B	





	58.	A	





	59.	A	





	60.	A	





	61.	electron 





	62.	plasma membrane 





	63.	Fetal cell transplantation 





	64.	carrier 





	65.	phagocytosis 





	66.	Osmosis 





	67.	mitochondria 





	68.	ribosomes 





	69.	lysosomes 





	70.	flagellum 





	71.	allosteric 





	72.	36 





	73.	Krebs cycle 





	74.	Fermentation 





	75.	ethanol and carbon dioxide 





	76.	A. It controls the transport of substances into and out of the cell. B. They are the site of protein synthesis. C. They destroy aged or defective cellular parts. 





	77.	By simple diffusion, molecules or ions pass from a higher to a lower concentration.  The cell does not need to spend energy for this process.  By active transport, the particles of matter move from a lower to a higher concentration and the cell spends energy for this process through ATP. 





	78.	It is an electron acceptor for electrons given off from substrates of the Krebs cycle. 





	79.	This is a reaction in which each pyruvate is stripped of a carbon atom, creating a two-carbon acetyl group.  This group binds to CoA, creating acetyl CoA, which enters the Krebs cycle.  The transition reactions also yield carbon dioxide and NADH. 





	80.	C, D, B, A, E, F 
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